http://www.aimspress.com/journal/Math

## Research article

# On the high-th mean of one special character sums modulo a prime 

Yan Ma and Di Han*

Research Center for Number Theory and Its Applications, Northwest University, Xi'an 710127, China

* Correspondence: E-mail: dhan@nwu.edu.cn.


#### Abstract

Using the elementary method of the classical Gauss sums and the properties of character sums, we study a linear recurrence formula about the form $G(n)=1+\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right)$ and about the mean value of $G(n)$. This is a further exploration of Yuan and Zhang's research in 2022, which help us to better understand the character sums wide range application.


Keywords: quadratic character; quartic character; basic method; calculating formula; special character sums
Mathematics Subject Classification: 11L05, 11L40

## 1. Introduction

The key to solving the general quadratic congruence equation is to solve the equation of the form $x^{2} \equiv a \bmod p$, where $a$ and $p$ are integers, $p>0$ and $p$ is not divisible by $a$. For relatively large $p$, it is impractical to use the Euler criterion to distinguish whether the integer $a$ with $(a, p)=1$ is quadratic residue of modulo $p$. In order to study this issue, Legendre has proposed a new tool-Legendre's symbol.

Let $p$ be an odd prime, the quadratic character modulo $p$ is called the Legendre's symbol, which is defined as follows:

$$
\left(\frac{a}{p}\right)= \begin{cases}1, & \text { if } a \text { is a quadratic residue modulo } p \\ -1, & \text { if } a \text { is a quadratic non-residue modulo } p \\ 0, & \text { if } p \mid a\end{cases}
$$

The Legendre's symbol makes it easy for us to calculate the level of quadratic residues. The basic properties of Legendre's symbol can be found in any book on elementary number theory, such as [1-3].

The properties of Legendre's symbol and quadratic residues play an important role in number theory. Many scholars have studied them and achieved some important results. For examples, see the [4-21].

One of the most representative properties of the Legendre's symbol is the quadratic reciprocal law: Let $p$ and $q$ be two distinct odd primes. Then, (see Theorem 9.8 in [1] or Theorems 4-6 in [3])

$$
\left(\frac{p}{q}\right) \cdot\left(\frac{q}{p}\right)=(-1)^{\frac{(p-1)(q-1)}{4}} .
$$

For any odd prime $p$ with $p \equiv 1 \bmod 4$ there exist two non-zero integers $\alpha(p)$ and $\beta(p)$ such that

$$
\begin{equation*}
p=\alpha^{2}(p)+\beta^{2}(p) . \tag{1}
\end{equation*}
$$

In fact, the integers $\alpha(p)$ and $\beta(p)$ in the (1) can be expressed in terms of Legendre's symbol modulo $p$ (see Theorems 4-11 in [3])

$$
\alpha(p)=\frac{1}{2} \sum_{a=1}^{p-1}\left(\frac{a^{3}+a}{p}\right) \text { and } \beta(p)=\frac{1}{2} \sum_{a=1}^{p-1}\left(\frac{a^{3}+r a}{p}\right),
$$

where $r$ is any integer, and $(r, p)=1,\left(\frac{r}{p}\right)=-1,\left(\frac{*}{p}\right)=\chi_{2}$ denote the Legendre's symbol modulo $p$.
Noting that Legendre's symbol is a special kind of character. For research on character, Han [7] studied the sum of a special character $\chi(m a+\bar{a})$, for any integer $m$ with $(m, p)=1$, then

$$
\left|\sum_{a=1}^{p-1} \chi(m a+\bar{a})\right|^{2}=2 p+\left(\frac{m}{p}\right) \sum_{a=1}^{p-1} \chi(a) \sum_{b=1}^{p-1}\left(\frac{b(b-1)\left(a^{2} b-1\right)}{p}\right)
$$

which is a special case of a general polynomial character sums $\sum_{a=N+1}^{N+M} \chi(f(a))$, where $M$ and $N$ are any positive integers, and $f(x)$ is a polynomial.

In [8], Du and Li introduced a special character sums $C(\chi, m, n, c ; p)$ in the following form:

$$
C(\chi, m, n, c ; p)=\sum_{a=0}^{p-1} \sum_{b=0}^{p-1} \chi\left(a^{2}+n a-b^{2}-n b+c\right) \cdot e\left(\frac{m b^{2}-m a^{2}}{p}\right)
$$

and studied the asymptotic properties of it. They obtained

$$
\sum_{c=1}^{p-1}|C(\chi, m, n, c ; p)|^{2 k}= \begin{cases}p^{2 k+1}+\frac{k^{2}-3 k-2}{2} \cdot p^{2 k}+O\left(p^{2 k-1}\right), & \text { if } \chi \text { is the Legendre symbol modulo } p \\ p^{2 k+1}+\frac{k^{2}-3 k-2}{2} \cdot p^{2 k}+O\left(p^{2 k-1 / 2}\right), & \text { if } \chi \text { is a complex character modulo } p\end{cases}
$$

Recently, Yuan and Zhang [12] researched the question about the estimation of the mean value of high-powers for a special character sum modulo a prime, let $p$ be an odd prime with $p \equiv 1 \bmod 6$, then for any integer $k \geq 0$, they have the identity

$$
S_{k}(p)=\frac{1}{3} \cdot\left[d^{k}+\left(\frac{-d+9 b}{2}\right)^{k}+\left(\frac{-d-9 b}{2}\right)^{k}\right]
$$

where

$$
S_{k}(p)=\frac{1}{p-1} \sum_{r=1}^{p-1} A^{k}(r),
$$

$$
A(r)=1+\sum_{a=1}^{p-1}\left(\frac{a^{2}+r \bar{a}}{p}\right)
$$

and for any integer $r$ with $(r, p)=1$.
More relevant research on special character sums will not be repeated. Inspired by these papers, we have the question: If we replace the special character sums with Legendre's symbol, can we get good results on $p \equiv 1 \bmod 4$ ?

We will convert $\beta(p)$ to another form based on the properties of complete residues

$$
\beta(p)=\frac{1}{2} \sum_{a=1}^{p-1}\left(\frac{a+n \bar{a}}{p}\right),
$$

where $\bar{a}$ is the inverse of $a$ modulo $p$. That is, $\bar{a}$ satisfy the equation $x \cdot a \equiv 1 \bmod p$ for any integer $a$ with $(a, p)=1$.

For any integer $k \geq 0, G(n)$ and $K_{k}(p)$ are defined as follows:

$$
G(n)=1+\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right) \text { and } K_{k}(p)=\frac{1}{p-1} \sum_{n=1}^{p-1} G^{k}(n) .
$$

In this paper, we will use the analytic methods and properties of the classical Gauss sums and Dirichlet character sums to study the computational problem of $K_{k}(p)$ for any positive integer $k$, and give a linear recurrence formulas for $K_{k}(p)$. That is, we will prove the following result.

Theorem 1. Let $p$ be an odd prime with $p \equiv 1 \bmod 4$, then we have

$$
K_{k}(p)=(4 p+2) \cdot K_{k-2}(p)-8\left(2 \alpha^{2}-p\right) \cdot K_{k-3}(p)+\left(16 \alpha^{4}-16 p \alpha^{2}+4 p-1\right) \cdot K_{k-4}(p)
$$

for all integer $k \geq 4$ with

$$
K_{0}(p)=1, K_{1}(p)=0, K_{2}(p)=2 p+1, K_{3}(p)=-3\left(4 \alpha^{2}-2 p\right),
$$

where

$$
\alpha=\alpha(p)=\sum_{a=1}^{\frac{p-1}{2}}\left(\frac{a+\bar{a}}{p}\right) .
$$

Applying the properties of the linear recurrence sequence, we may immediately deduce the following corollaries.
Corollary 1. Let $p$ be an odd prime with $p \equiv 1 \bmod 4$. Then we have

$$
\frac{1}{p-1} \sum_{n=1}^{p-1} \frac{1}{1+\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right)}=\frac{16 \alpha^{2} p-28 \alpha^{2}-8 p^{2}+14 p}{16 \alpha^{4}-16 \alpha^{2} p+4 p-1} .
$$

Corollary 2. Let $p$ be an odd prime with $p \equiv 1 \bmod 4$. Then we have

$$
\frac{1}{p-1} \sum_{n=1}^{p-1} \sum_{m=0}^{p-1}\left(1+\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right)\right) \cdot e\left(\frac{n m^{2}}{p}\right)=-\sqrt{p}
$$

Corollary 3. Let $p$ be an odd prime with $p \equiv 1 \bmod 4$. Then we have

$$
\frac{1}{p-1} \sum_{n=1}^{p-1} \sum_{m=0}^{p-1}\left[1+\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right)\right]^{2} \cdot e\left(\frac{n m^{2}}{p}\right)=\left(4 \alpha^{2}-2 p\right) \cdot \sqrt{p} .
$$

Corollary 4. Let $p$ be an odd prime with $p \equiv 1 \bmod 8$. Then we have

$$
\sum_{n=1}^{p-1}\left(1+\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right)\right) \cdot \sum_{m=0}^{p-1} e\left(\frac{n m^{4}}{p}\right)=\sqrt{p}(-1+B(1))-p
$$

where

$$
B(1)=\sum_{m=0}^{p-1} e\left(\frac{m^{4}}{p}\right) .
$$

If we consider such a sequence $F_{k}(p)$ as follows: Let $p$ be a prime with $p \equiv 1 \bmod 8, \chi_{4}$ be any fourth-order character modulo $p$. For any integer $k \geq 0$, we define the $F_{k}(p)$ as

$$
F_{k}(p)=\sum_{n=1}^{p-1} \frac{1}{G^{k}(n)},
$$

we have

$$
\begin{aligned}
F_{k}(p)= & \frac{1}{16 \alpha^{4}-16 \alpha^{2} p+4 p-1} F_{k-4}(p)-\frac{(4 p+2)}{16 \alpha^{4}-16 \alpha^{2} p+4 p-1} F_{k-2}(p) \\
& +\frac{4\left(4 \alpha^{2}-2 p\right)}{16 \alpha^{4}-16 \alpha^{2} p+4 p-1} F_{k-1}(p)
\end{aligned}
$$

## 2. Some lemmas

Lemma 1. Let $p$ be an odd prime with $p \equiv 1 \bmod 4$. Then for any fourth-order character $\chi_{4} \bmod p$, we have the identity

$$
\tau^{2}\left(\chi_{4}\right)+\tau^{2}\left(\overline{\chi_{4}}\right)=2 \sqrt{p} \cdot \alpha,
$$

where

$$
\tau\left(\chi_{4}\right)=\sum_{a=1}^{p-1} \chi_{4}(a) e\left(\frac{a}{p}\right)
$$

denotes the classical Gauss sums, $e(y)=e^{2 \pi i y}, i^{2}=-1$, and $\alpha$ is the same as in the Theorem 1 .
Proof. See Lemma 2.2 in [9].
Lemma 2. Let $p$ be an odd prime. Then for any non-principal character $\psi$ modulo $p$, we have the identity

$$
\tau\left(\psi^{2}\right)=\frac{\psi^{2}(2)}{\tau\left(\chi_{2}\right)} \cdot \tau(\psi) \cdot \tau\left(\psi \chi_{2}\right)
$$

where $\chi_{2}=\left(\frac{*}{p}\right)$ denotes the Legendre's symbol modulo $p$.

Proof. See Lemma 2 in [12].
Lemma 3. Let $p$ be a prime with $p \equiv 1 \bmod 4$, then for any integer $n$ with $(n, p)=1$ and fourth-order character $\chi_{4} \bmod p$, we have the identity

$$
\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right)=-1-\chi_{2}(n)+\frac{1}{\sqrt{p}} \cdot\left(\chi_{4}(n) \cdot \tau^{2}\left(\overline{\chi_{4}}\right)+\overline{\chi_{4}}(n) \cdot \tau^{2}\left(\chi_{4}\right)\right) .
$$

Proof. For any integer $a$ with $(a, p)=1$, we have the identity

$$
1+\chi_{4}(a)+\chi_{2}(a)+\bar{\chi}_{4}(a)=4
$$

if $a$ satisfies $a \equiv b^{4} \bmod p$ for some integer $b$ with $(b, p)=1$ and

$$
1+\chi_{4}(a)+\chi_{2}(a)+\bar{\chi}_{4}(a)=0
$$

otherwise. So from these and the properties of Gauss sums we have

$$
\begin{align*}
\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right)= & \sum_{a=1}^{p-1}\left(\frac{a^{2}}{p}\right)\left(\frac{a^{4}+n}{p}\right) \\
= & \sum_{a=1}^{p-1} \chi_{2}\left(a^{4}\right) \chi_{2}\left(a^{4}+n\right) \\
= & \sum_{a=1}^{p-1}\left(1+\chi_{4}(a)+\chi_{2}(a)+\overline{\chi_{4}}(a)\right) \cdot \chi_{2}(a) \cdot \chi_{2}(a+n) \\
= & \sum_{a=1}^{p-1}\left(1+\chi_{4}(n a)+\chi_{2}(n a)+\overline{\chi_{4}}(n a)\right) \cdot \chi_{2}(n a) \cdot \chi_{2}(n a+n) \\
= & \sum_{a=1}^{p-1} \chi_{2}(a) \chi_{2}(a+1)+\sum_{a=1}^{p-1} \chi_{4}(n a) \chi_{2}(a) \chi_{2}(a+1)  \tag{2}\\
& +\sum_{a=1}^{p-1} \chi_{2}(n a) \chi_{2}(a) \chi_{2}(a+1)+\sum_{a=1}^{p-1} \overline{\chi_{4}(n a) \chi_{2}(a) \chi_{2}(a+1)} \\
= & \sum_{a=1}^{p-1} \chi_{2}(1+\bar{a})+\sum_{a=1}^{p-1} \chi_{4}(n a) \chi_{2}(a) \chi_{2}(a+1) \\
& +\sum_{a=1}^{p-1} \chi_{2}(n) \chi_{2}(a+1)+\sum_{a=1}^{p-1} \overline{\chi_{4}(n a) \chi_{2}(a) \chi_{2}(a+1) .}
\end{align*}
$$

Noting that for any non-principal character $\chi$,

$$
\sum_{a=1}^{p-1} \chi(a)=0
$$

and

$$
\sum_{a=1}^{p-1} \chi(a) \chi(a+1)=\frac{1}{\tau(\bar{\chi})} \sum_{b=1}^{p-1} \sum_{a=1}^{p-1} \bar{\chi}(b) \chi(a) e\left(\frac{b(a+1)}{p}\right) .
$$

Then we have

$$
\begin{align*}
& \sum_{a=1}^{p-1} \chi_{2}(1+\bar{a})=-1, \quad \sum_{a=1}^{p-1} \chi_{2}(a+1)=-1, \\
& \sum_{a=1}^{p-1} \chi_{4}(a) \chi_{2}(a) \chi_{2}(a+1)=\frac{1}{\tau\left(\chi_{2}\right)} \sum_{b=1}^{p-1} \sum_{a=1}^{p-1} \chi_{2}(b) \chi_{4}(a) \chi_{2}(a) e\left(\frac{b(a+1)}{p}\right) \\
&=\frac{1}{\tau\left(\chi_{2}\right)} \sum_{b=1}^{p-1} \overline{\chi_{4}}(b) e\left(\frac{b}{p}\right) \sum_{a=1}^{p-1} \chi_{4}(a b) \chi_{2}(a b) e\left(\frac{a b}{p}\right)  \tag{3}\\
&=\frac{1}{\tau\left(\chi_{2}\right)} \cdot \tau\left(\overline{\chi_{4}}\right) \cdot \tau\left(\chi_{4} \chi_{2}\right) .
\end{align*}
$$

For any non-principal character $\psi$, from Lemma 2 we have

$$
\begin{equation*}
\tau\left(\psi^{2}\right)=\frac{\psi^{2}(2)}{\tau\left(\chi_{2}\right)} \cdot \tau(\psi) \cdot \tau\left(\psi \chi_{2}\right) \tag{4}
\end{equation*}
$$

Taking $\psi=\chi_{4}$, note that

$$
\tau\left(\chi_{2}\right)=\sqrt{p}, \quad \tau\left(\chi_{4}\right) \cdot \tau\left(\bar{\chi}_{4}\right)=\chi_{4}(-1) \cdot p,
$$

from (3) and (4), we have

$$
\begin{align*}
\sum_{a=1}^{p-1} \chi_{4}(a) \chi_{2}(a) \chi_{2}(a+1) & =\frac{\overline{\chi_{4}}{ }^{2}(2) \cdot \tau\left(\chi_{4}^{2}\right) \cdot \tau\left(\chi_{2}\right) \cdot \tau\left(\overline{\chi_{4}}\right)}{\tau\left(\chi_{2}\right) \cdot \tau\left(\chi_{4}\right)} \\
& =\frac{\chi_{2}(2) \cdot \tau\left(\chi_{2}\right) \cdot \tau^{2}\left(\overline{\chi_{4}}\right)}{\tau\left(\chi_{4}\right) \cdot \tau\left(\overline{\chi_{4}}\right)} \\
& =\frac{\chi_{2}(2) \cdot \sqrt{p} \cdot \tau^{2}\left(\overline{\chi_{4}}\right)}{\chi_{4}(-1) \cdot p}  \tag{5}\\
& =\frac{\chi_{2}(2) \cdot \tau^{2}\left(\overline{\chi_{4}}\right)}{\chi_{4}(-1) \cdot \sqrt{p}}
\end{align*}
$$

Similarly, we also have

$$
\begin{equation*}
\sum_{a=1}^{p-1} \bar{\chi}_{4}(a) \chi_{2}(a) \chi_{2}(a+1)=\frac{\chi_{2}(2) \cdot \tau^{2}\left(\chi_{4}\right)}{\chi_{4}(-1) \cdot \sqrt{p}} . \tag{6}
\end{equation*}
$$

Consider the quadratic character modulo $p$, we have

$$
\left(\frac{2}{p}\right)=\chi_{2}(2)=\left\{\begin{align*}
1, & \text { if } \mathrm{p} \equiv \pm 1 \bmod 8  \tag{7}\\
-1, & \text { if } \mathrm{p} \equiv \pm 3 \bmod 8
\end{align*}\right.
$$

And when $p \equiv 1 \bmod 8$, we have $\chi_{4}(-1)=1$; when $p \equiv 5 \bmod 8$, we have $\chi_{4}(-1)=-1$.

Combining (2) and (5)-(7) we can deduce that

$$
\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right)=-1-\chi_{2}(n)+\frac{1}{\sqrt{p}} \cdot\left(\chi_{4}(n) \cdot \tau^{2}\left(\bar{\chi}_{4}\right)+\overline{\chi_{4}}(n) \cdot \tau^{2}\left(\chi_{4}\right)\right) .
$$

This prove Lemma 3.
Lemma 4. Let $p$ be an odd prime with $p \equiv 1 \bmod 4$. Then for any integer $k \geq 4$ and $n$ with $(n, p)=1$, we have the fourth-order linear recurrence formula

$$
G^{k}(n)=(4 p+2) \cdot G^{k-2}(n)+8\left(p-2 \alpha^{2}\right) \cdot G^{k-3}(n)+\left[\left(4 \alpha^{2}-2 p\right)^{2}-(2 p-1)^{2}\right] \cdot G^{k-4}(n),
$$

where

$$
\alpha=\alpha(p)=\frac{1}{2} \sum_{a=1}^{p-1}\left(\frac{a^{3}+a}{p}\right)=\sum_{a=1}^{\frac{p-1}{2}}\left(\frac{a+\bar{a}}{p}\right),
$$

$\left(\frac{*}{p}\right)=\chi_{2}$ denotes the Legendre's symbol.
Proof. For $p \equiv 1 \bmod 4$, any integer $n$ with $(n, p)=1$, and fourth-order character $\chi_{4}$ modulo $p$, we have the identity

$$
\chi_{4}^{4}(n)=\bar{\chi}_{4}^{4}(n)=\chi_{0}(n), \quad \chi_{4}^{2}(n)=\chi_{2}(n),
$$

where $\chi_{0}$ denotes the principal character modulo $p$.
According to Lemma 3,

$$
\begin{aligned}
\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right) & =-1-\chi_{2}(n)+\frac{1}{\sqrt{p}} \cdot\left(\chi_{4}(n) \cdot \tau^{2}\left(\bar{\chi}_{4}\right)+\bar{\chi}_{4}(n) \cdot \tau^{2}\left(\chi_{4}\right)\right), \\
G(n) & =1+\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right) .
\end{aligned}
$$

We have

$$
\begin{align*}
G(n)= & -\chi_{2}(n)+\frac{1}{\sqrt{p}} \cdot\left(\chi_{4}(n) \cdot \tau^{2}\left(\bar{\chi}_{4}\right)+\bar{\chi}_{4}(n) \cdot \tau^{2}\left(\chi_{4}\right)\right),  \tag{8}\\
G^{2}(n)= & {\left[-\chi_{2}(n)+\frac{1}{\sqrt{p}} \cdot\left(\chi_{4}(n) \cdot \tau^{2}\left(\overline{\chi_{4}}\right)+\overline{\chi_{4}}(n) \cdot \tau^{2}\left(\chi_{4}\right)\right)\right]^{2} } \\
= & 1-2 \chi_{2}(n) \cdot \frac{1}{\sqrt{p}} \cdot\left(\chi_{4}(n) \cdot \tau^{2}\left(\overline{\chi_{4}}\right)+\overline{\chi_{4}}(n) \cdot \tau^{2}\left(\chi_{4}\right)\right) \\
& +\frac{1}{p} \cdot\left(\chi_{2}(n) \cdot \tau^{4}\left(\bar{\chi}_{4}\right)+\chi_{2}(n) \cdot \tau^{4}\left(\chi_{4}\right)+2 p^{2}\right) \\
= & 1-2 \chi_{2}(n) \cdot \frac{1}{\sqrt{p}} \cdot\left(\chi_{4}(n) \cdot \tau^{2}\left(\bar{\chi}_{4}\right)+\bar{\chi}_{4}(n) \cdot \tau^{2}\left(\chi_{4}\right)\right) \\
& +\frac{1}{p} \cdot\left(\chi_{2}(n) \cdot\left(\tau^{4}\left(\bar{\chi}_{4}\right)+\tau^{4}\left(\chi_{4}\right)\right)+2 p^{2}\right) .
\end{align*}
$$

According to Lemma 1, we have

$$
\left(\tau^{2}\left(\chi_{4}\right)+\tau^{2}\left(\bar{\chi}_{4}\right)\right)^{2}=\tau^{4}\left(\bar{\chi}_{4}\right)+\tau^{4}\left(\chi_{4}\right)+2 p^{2}=4 p \alpha^{2} .
$$

Therefore, we may immediately deduce

$$
\begin{align*}
G^{2}(n)= & 1-2\left(\chi_{2}(n) \cdot\left(G(n)+\chi_{2}(n)\right)\right. \\
& +\frac{1}{p}\left(\chi_{2}(n) \cdot\left(\tau^{4}\left(\overline{\chi_{4}}\right)+\tau^{4}\left(\chi_{4}\right)\right)+2 p^{2}\right) \\
= & 1-2 \chi_{2}(n) \cdot\left(G(n)+\chi_{2}(n)\right)  \tag{9}\\
& +\frac{1}{p} \cdot\left[\chi_{2}(n)\left(\left(\tau^{2}\left(\bar{\chi}_{4}\right)+\tau^{2}\left(\chi_{4}\right)\right)^{2}-2 p^{2}\right)+2 p^{2}\right] \\
= & 2 p-1-2 \chi_{2}(n) \cdot G(n)+\left(4 \alpha^{2}-2 p\right) \cdot \chi_{2}(n), \\
G^{3}(n)= & {\left[-\chi_{2}(n)+\frac{1}{\sqrt{p}} \cdot\left(\chi_{4}(n) \cdot \tau^{2}\left(\overline{\chi_{4}}\right)+\overline{\chi_{4}}(n) \cdot \tau^{2}\left(\chi_{4}\right)\right)\right]^{3} } \\
= & \left(2 p-1-2 \chi_{2}(n) \cdot G(n)+\left(4 \alpha^{2}-2 p\right) \cdot \chi_{2}(n)\right) \cdot G(n)  \tag{10}\\
= & \left(4 \alpha^{2}-2 p\right) \chi_{2}(n) \cdot G(n)+(2 p+3) G(n)-(4 p-2) \chi_{2}(n)-2\left(4 \alpha^{2}-2 p\right)
\end{align*}
$$

and

$$
\left[G^{2}(n)-(2 p-1)\right]^{2}=\left[\chi_{2}(n) \cdot\left(4 \alpha^{2}-2 p\right)-2 \chi_{2}(n) \cdot G(n)\right]^{2},
$$

which implies that

$$
\begin{equation*}
G^{4}(n)=(4 p+2) \cdot G^{2}(n)+8\left(p-2 \alpha^{2}\right) \cdot G(n)+\left[\left(4 \alpha^{2}-2 p\right)^{2}-(2 p-1)^{2}\right] . \tag{11}
\end{equation*}
$$

So for any integer $k \geq 4$, from (8)-(11), we have the fourth-order linear recurrence formula

$$
\begin{aligned}
G^{k}(n) & =G^{k-4}(n) \cdot G^{4}(n) \\
& =(4 p+2) \cdot G^{k-2}(n)+8\left(p-2 \alpha^{2}\right) \cdot G^{k-3}(n)+\left[\left(4 \alpha^{2}-2 p\right)^{2}-(2 p-1)^{2}\right] \cdot G^{k-4}(n) .
\end{aligned}
$$

This proves Lemma 4.

## 3. Proof of the theorem

In this section, we will complete the proof of our theorem.
Let $p$ be any prime with $p \equiv 1 \bmod 4$, then we have

$$
\begin{align*}
& K_{0}(p)=\frac{1}{p-1} \sum_{n=1}^{p-1} G^{0}(n)=\frac{p-1}{p-1}=1 .  \tag{12}\\
& K_{1}(p)=\frac{1}{p-1} \sum_{n=1}^{p-1} G^{1}(n)
\end{align*}
$$

$$
\begin{align*}
& =\frac{1}{p-1} \sum_{n=1}^{p-1}\left(-\chi_{2}(n)+\frac{1}{\sqrt{p}} \cdot\left(\chi_{4}(n) \tau^{2}\left(\bar{\chi}_{4}\right)+\bar{\chi}_{4}(n) \tau^{2}\left(\chi_{4}\right)\right)\right)  \tag{13}\\
& =0, \\
K_{2}(p) & =\frac{1}{p-1} \sum_{n=1}^{p-1} G^{2}(n) \\
& =\frac{1}{p-1} \sum_{n=1}^{p-1}\left(-\chi_{2}(n)+\frac{1}{\sqrt{p}} \cdot\left(\chi_{4}(n) \tau^{2}\left(\bar{\chi}_{4}\right)+\bar{\chi}_{4}(n) \tau^{2}\left(\chi_{4}\right)\right)\right)^{2}  \tag{14}\\
& =2 p+1, \\
K_{3}(p) & =\frac{1}{p-1} \sum_{n=1}^{p-1} G^{3}(n) \\
& =\frac{1}{p-1} \sum_{n=1}^{p-1}\left(-\chi_{2}(n)+\frac{1}{\sqrt{p}} \cdot\left(\chi_{4}(n) \tau^{2}\left(\overline{\chi_{4}}\right)+\overline{\chi_{4}}(n) \tau^{2}\left(\chi_{4}\right)\right)\right)^{3}  \tag{15}\\
& =-3\left(4 \alpha^{2}-2 p\right) .
\end{align*}
$$

It is clear that from Lemma 4 , if $k \geq 4$, we have

$$
\begin{align*}
K_{k}(p) & =\frac{1}{p-1} \sum_{n=1}^{p-1} G^{k}(n) \\
& =(4 p+2) \cdot K_{k-2}(p)-8\left(2 \alpha^{2}-p\right) \cdot K_{k-3}(p)+\left(16 \alpha^{4}-16 p \alpha^{2}+4 p-1\right) \cdot K_{k-4}(p) . \tag{16}
\end{align*}
$$

Now Theorem 1 follows (12)-(16). Obviously, using Theorem 1 to all negative integers, and that lead to Corollary 1.

This completes the proofs of our all results.

## Some notes:

Note 1: In our theorem, know $n$ is an integer, and $(n, p)=1$. According to the properties of quadratic residual, $\chi_{2}(n)= \pm 1, \chi_{4}(n)= \pm 1$.

Note 2: In our theorem, we only discussed the case $p \equiv 1 \bmod 8$. If $p \equiv 3 \bmod 4$, then the result is trivial. In fact, in this case, for any integer $n$ with $(n, p)=1$, we have the identity

$$
\begin{aligned}
G(n) & =1+\sum_{a=1}^{p-1}\left(\frac{a^{2}+n \bar{a}^{2}}{p}\right)=1+\sum_{a=1}^{p-1}\left(\frac{a^{4}}{p}\right) \cdot\left(\frac{a^{4}+n}{p}\right) \\
& =1+\sum_{a=1}^{p-1}\left(\frac{a}{p}\right) \cdot\left(\frac{a+n}{p}\right)=1+\sum_{a=1}^{p-1}\left(\frac{a^{2}+n a}{p}\right) \\
& =1+\sum_{a=1}^{p-1}\left(\frac{1+n \bar{a}}{p}\right)=\sum_{a=0}^{p-1}\left(\frac{1+n a}{p}\right)=0 .
\end{aligned}
$$

Thus, for all prime $p$ with $p \equiv 3 \bmod 4$ and $k \geq 1$, we have $K_{k}(p)=0$.

## 4. Conclusions

The main result of this paper is Theorem 1. It gives an interesting computational formula for $K_{k}(p)$ with $p \equiv 1 \bmod 4$. That is, for any integer $k$, we have the identity

$$
K_{k}(p)=(4 p+2) \cdot K_{k-2}(p)-8\left(2 \alpha^{2}-p\right) \cdot K_{k-3}(p)+\left(16 \alpha^{4}-16 p \alpha^{2}+4 p-1\right) \cdot K_{k-4}(p)
$$

Thus, the problems of calculating a linear recurrence formula of one kind special character sums modulo a prime are given.

## Use of AI tools declaration

The authors declare they have not used Artificial Intelligence (AI) tools in the creation of this article.

## Acknowledgments

The authors are grateful to the anonymous referee for very helpful and detailed comments.
This work is supported by the N.S.F. (11971381, 12371007) of China and Shaanxi Fundamental Science Research Project for Mathematics and Physics (22JSY007).

## Conflict of interest

The authors declare no conflicts of interest.

## References

1. W. Narkiewicz, Classical problems in number theory, Pastwowe Wydawnictwo Naukowe, 1986.
2. T. M. Apostol, Introduction to analytic number theory, Springer, 1976.
3. W. P. Zhang, H. L. Li, Elementary number theory, Shaanxi Normal University Press, 2013.
4. W. Kohnen, An elementary proof in the theory of quadratic residues, Bull. Korean Math. Soc., 45 (2008), 273-275. https://doi.org/10.4134/BKMS.2008.45.2.273
5. D. A. Burgess, The distribution of quadratic residues and non-residues, Mathematika, 4 (1957), 106-112. https://doi.org/10.1112/S0025579300001157
6. D. A. Burgess, A note on the distribution of residues and non-residues, J. London Math. Soc., 1 (1963), 253-256. https://doi.org/10.1112/jlms/s1-38.1.253
7. D. Han, A hybrid mean value involving two-term exponential sums and polynomial character sums, Czech. Math. J., 64 (2014), 53-62. https://doi.org/10.1007/s10587-014-0082-0
8. X. C. Du, X. X. Li, A new sum analogous to quadratic Gauss sums and its $2 k$ th power mean, $J$. Inequal. Appl., 102 (2014), 102. https://doi.org/10.1186/1029-242X-2014-102
9. Z. Y. Chen, W. P. Zhang, On the fourth-order linear recurrence formula related to classical Gauss sums, Open Math., 15 (2017), 1251-1255. https://doi.org/10.1515/math-2017-0104
10. J. F. Zhang, Y. Y. Meng, The mean values of character sums and their applications, Mathematics, 9 (2021), 318. https://doi.org/10.3390/math9040318
11. S. M. Shen, W. P. Zhang, On the quartic Gauss sums and their recurrence property, Adv. Differ. Equations, 2017 (2017), 43. https://doi.org/10.1186/s13662-017-1097-2
12. X. D. Yuan, W. P. Zhang, On the mean value of high-powers of a special character sum modulo a prime, Comput. Model. Eng. Sci., 136 (2022), 943-953. https://doi.org/10.32604/cmes.2023.024363
13. Z. H. Sun, Consecutive numbers with the same Legendre symbol, Proc. Amer. Math. Soc., 130 (2002), 2503-2507. https://doi.org/10.1090/S0002-9939-02-06600-5
14. M. Z. Garaev, A note on the least quadratic non-residue of the integer-sequences, Bull. Aust. Math. Soc., 68 (2003), 1-11. https://doi.org/10.1017/S0004972700037369
15. A. Schinzel, Primitive roots and quadratic non-residues, Acta Arith., 149 (2011), 161-170. https://doi.org/10.4064/aa149-2-5
16. S. Wright, Quadratic residues and non-residues in arithmetic progression, J. Number Theory, 133 (2013), 2398-2430. https://doi.org/10.1016/j.jnt.2013.01.004
17. F. L. Tiplea, S. Iftene, G. Teşeleanu, A. M. Nica, On the distribution of quadratic residues and non-residues modulo composite integers and applications to cryptography, Appl. Math. Comput., 372 (2020), 124993. https://doi.org/10.1016/j.amc.2019.124993
18. T. T. Wang, X. X. Lv, The quadratic residues and some of their new distribution properties, Symmetry, 12 (2020), 421. https://doi.org/10.3390/sym12030421
19. W. P. Zhang, A. Samad, Z. Y. Chen, New identities dealing with Gauss sums, Symmetry, 12 (2020), 1416. https://doi.org/10.3390/sym12091416
20. H. Bai, J. Y. Hu, On the classical Gauss sum and the recursive properties, Adv. Differ. Equations, 2018 (2018), 387. https://doi.org/10.1186/s13662-018-1804-7
21. C. Li, On the classical Gauss sum and the some of their properties, Symmetry, 10 (2018), 625. https://doi.org/10.3390/sym10110625
© 2023 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)
